NCTM Content Standards
Assessment Rubric

o000 0000
Algebra

suonenbs ore1qagye
JAJOS 0] SE[NULIO]
Sursn ur L1171qe Suomns
SINBIISUOWI(] o

SJlelsuourd

onenbo ore1qagye
JA[0S 0) Se[nuULIO}

J8ueyD
dAneInuEn() pue
suonenby ‘Surydein
‘Sururaney ‘3uniog
Jo Surpuelsiopun
y3noioy) e
SIIBIISUOWA(] o

P 19497

J8ueyD
JAnEINUENY) pUE

suonenby ‘Surydein

Surpuelsapun poos
B SIBISUOW(] o

€ 12427

‘Sururane  ‘Sunios jo

Jone

N N )
{SdHd X \_ “mmmmmZv:wm—B\ \_ “mIHUZm—MHm\
~

SuR[qoIJ

d1RIQIS[Y A[0S

suonenb?
OTeIqI3[e IA]0S 01

0) se[nuLIo] pue
‘sjoox, ‘Oanbruyday

Surpuelsiopun diseq
B SIBISUOW(] o

1 L11qe owos | seynurioy Suisn ur L1fiqe aeudoxddy
BIISUOUW(] o PIITWI] SIILNSUOWI(T o Suilddy
Iguey)

dAneINuUend

a8ueyH pue suonenby

2ATEIUEND) puE ‘Sunydex

suonenby ‘Surydein wzmﬁuu:&m

‘Suruianied ‘3unios jo supi0g

Ubned Sunlos J :s53daduo)

SUTPULISIIPUN PIITUIT] s1eaqasSy o)

€ S9lensuouio(J e Mﬁmﬂﬁﬁﬂmhvﬁuﬁp

C 1242

T 194217

JusuubIssy

:OUIDN S,Juspnis

Algebra CCP3113-2

© CLASSROOM COMPLETE@PRESS



g Tk Shed NAME:

Task Sheet 5 T

5) Graph each lefter on the accompanying number line. ¥
d

a) 4>x>-2

% 8 -7 6 5 4 3 -2 -1 0 1 2 3 4 &5 6 7 8 9

b) 8=x>-8
I I I I I I I I I I I I I I I I I I
9 8 -7 6 5 4 3 -2 -1 0 1 2 3 6 7 8 9
©)
I I
8 9
d)
I I
8 9

e)

\
Explore With Technology Compare the answers given when you enter 25 -35x 3...
... On a scientific calculator =
... On a basic calculator =
S
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b)

d)

M Review Gliedl NAME:

Review A

Roberto gets a summer job working at Papa Pete’s Greaseless Hamburger Joint.
He earns $8 per hour, plus a $25 bonus on his first day for having first aid training.
Which equation best represents Roberto’s earnings (E) if h represents his hours
worked?

) E=h (25 +8) i) E=25h+8 i) E=254+8h iv) E=25( +8)

Solve the following. Show your work:

D d+x=7
Answer:
i) c-3=9

Answer:

The table bel resents a pattern that increases when the same amount is
added to each term. Provide the missing term values.

Term Number 1 2 3 4 5
Term Value 5 12 26

Graph the letter on the accompanying number line.

6>x>-6

% 8 -7 6 5 4 3 -2 -1 0 1 2 3 4 &5 6 7 8 9
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Term Value and Graphing

a) A pattern that increases when the same amount is added to each term is
represented in the table below. Complete the pattern.

Term Number Term Value
1

2
3
4
S

b) A pattern that decreases when the same amoug is sub ed tQ each term is
represented in the table below. Complet rn.
Term Number m Va

™

c) Graph the following on the accompanying number line.

<9 8 -7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9
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